R#TFA+ By EE o1

RD Iy k. (SH40F, Afk1r, Bik12330%, C#H2430% )
(1) 8800a= ha (2)  18a= m?
(3)  320m? = ha (4)  Tha= a
(5)  80000a= km? (6)  0.13ha= a
(7)  0.0006km? = m? (8)  90000m? = ha
(9)  0.2km? = a (10)  48000m? = km?

© Bef - BEE L &7 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

(3)

(5)

(7)

(9)

300a=

ha

38000a=

km?

2250m? =

ha

0.4km? =

0.0004km? =

(2)

(4)

(6)

(8)

(10)

80a=

0.3ha=

4.5ha=

7000m? =

900000m? =

DX (SH40®, Afk14y, B 17330%, C#2430% )

km?

ha

© B - BB 2L 72912 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

R#TFA+ By EE o1

mREREHR

RD ZrO X, (SH40F, A1y, B1330%, C#243730%)

* ERBEDHEM  JEHIC 10065325089, ( K Hilst

’km2‘ ha‘ a ‘ m? ‘ cm? ‘
1 | 100 | 10000 | 1000000 (FE/3)
1 | 100 10000
1 100
1 10000
(1)  8800a= ha

8800 ~ 100 = 88 & Z

(3) 320m?2 = ha

320~ 100 = 100 = 0.032 --&Z
(5)  80000a= km?

80000 =~ 100 =100 =8 -&Z

(7) 0.0006km? = m?

0.0006 x 100 x 100 x 100 = 600

9) 0.2km? = a

0.2 x 100 x 100 = 2000 --&Z
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(10)

1m?2 = 10000cm?2 )

18a=

18 x 100 = 1800

Tha=

7 x 100 = 700
0.13ha=

0.13 x 100 =13
90000m? =

s
P

I
i

I3
p

ha

90000 =~ 100 =100 =9 -&Z

48000m? =

km?

48000 <+ 100 <+ 100 =+ 100 = 0.048 --&EZX
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300a=

300 + 100 = 3

38000a=

38000 + 100 = 100 = 3.8

ha

km?

2250m? =

ha

2250 =100 = 100 = 0.225

0.4km? =

0.4 x 100 x 100 = 4000

0.0004km? =

s
i

3
i

I
]

0.0004 x 100 x 100 x 100 = 400 &

]

(2)

(4)

(6)

(8)

(10)

80a=

80 x 100 = 8000

0.3ha=

0.3 x 100 = 30

4.5ha=

4.5 x 100 = 450

7000m? =

DX (SH40®, Afk14y, B 17330%, C#2430% )

%
NI

%
i

km?

7000 =+ 100 + 100 =+ 100 = 0.007

900000m? =

900000 =- 100 < 100 = 90

ha

=

Z

3
p]
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